Vypocitejte integraly metodou per partes:
1) J-xsinxdx =-—xcosx +sinx+C
x’ 1
2) J.xz In x dx =—(lnx——j+ C
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3) J-xcos3xdx=—xsm3x+—cos3x+C
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4) Ix sin2xdx = —Z(2x —1)cos2x+5xs1n2x+C
5) jln(x+3)dx=(x+3)-1n(x+3)—x+c
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6) Ix arctgxdngx arctgx—gx +gln(l+x )+C

7) J-arctg\/; dx = xarctg\/; —Jx+ arctg\/; +C=(x+ l)arctg\/; +C
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) jlllzxdx=—%(ln3x+3ln2x+6lnx+6)+c

9) jx-tgzxdx:xtgx+1n|cosx|—x72+C

10) j(3x+2)ex dx=e"Gx-1)+C

11) sze-x dx=—-x’e" —2xe " —2e " +C=e"(-x’-2x-2)+C
12) j(3x+1)cosxdx:(3x+1)sinx+3cosx+C

13) jzxe“ dx :gxe“ —%e“ +C :%e“(3x—1)+c

x° +6x

14) j(x2+2)lnxdx: lnx—éx3—2x+C

x_ldx:xarctgx_1
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15) J.arctg —%ln(x2 + 1)+ C



16) Iarcsinxdx = yarcsinx +v1—-x> +C

17) [+ 1) In(x? +2)dx = %(x2 +2x+2)In(x* + 2)—%()8 + 4x)+iarctg%+ c
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18) j(x2 —3x+2)e dr=e"(x>-5x+7)+C

19) jarcthZx—l dx = xarctgy2x —1 — 2;_1 +C
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20) j

——dx = —xcotg x + 1n|sin x| +C
sin” x



